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2. 2 -9 +4x+ 12y & A5EMNSHH (Ax+ By) (Cx+ Dy+4) 7t
Hoha ek A+ B+ C + D 9] 3& Fatofet

> E.

> ®™eh: 2

(A1) = (x=3y) (x+3y) + 4 (x+3y)
=(x+3y)(x—3y+4)
LA4+B4+C+D=1+3+1-3=2




o, (x+1)2 - 6(x + 1) & ZHS Faolah,
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X = \/(_3+2
(x+1)2-6(x+1) = (x+1)(x-5)
(V6 +3)(V6 - 3)
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4. x=V2-4 L1, x? -4x+4 2 F& 5t

> E.

> Heh: 38-12+2

B

X2 —dx+4=(x-2)°
—(v2-4-2)
— (v2-6)’
=2-12V2+36
=38-12V2




the 2008 0§ oto] 2 +)2 & Fofolel,
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3x + 3y + x2y + xy% = 36

3(x+y) +xy(x+y) =36

(x+¥)(3+ xy) = 36 1A

xy = 60|02 x +y=40]|r},

a4y = (x+y)2-2xy
=42-2x6
=16-12=4




